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336, Letf(x) = (1/2)x% %, 0 < x < co,be the p.d.f.
of X,
(a) Find the mgf. M(t).
(b) Find the values of u and o

337, Let f(x) = (1/2)sinx, 0 = x = 7, be the p.df.
of X,
(a) Find pand o
(b) Sketch the graph of the p.d.f. of X.

(c) Determine and sketch the graph of the dis-
tribution function of X.

338, The p.df of Xisf(x) = ¢/ 1 < x < 0.

(a) Calculate the value of ¢ so that f(x) is ap.d.f.
(b) Show that E(X) is not finite
339, Thep.df. of Yisg(y) = d/y>,1 <y < oo
(a) Calculate the value of d so that g(y) is a
pdf.
(b) Find B(Y).
(c) Show that Var(Y) is not finite.





ind the values of 4

) Sketch the graph of
() Determine and sketch the graph of the dis
tribution function of X

338, The pd.of Xisf(x) = /22,1

(3) Caleulatethe value of ¢ o that f(x) s a ..
(6) Show that £(X) is ot inite
339, The pdL of Y is




